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Topic:- General Knowledge and Logical Knowledge

1) Jhelum, Chenab, Ravi, Beas and Sutlej are tributaries of . /é?l'q, aT-IW, Tlﬁ, Y 3R
qaqel P TeTa® AT g

1. Cauvery / PIART
2. Narmada / :iﬂa'l

3. Brahmaputra / S&Tq"

4, Indus / ﬁfﬂ

Correct Answer :-

« Indus /T8y

2) Who is the Governor of Madhya Pradesh /qmu%.sa%mtrmﬁq%?
1. Om Prakash Kohli / WWW
2. Ram Naresh Yadav/ﬂﬂqwm

3. Balram Das Tandon / d¢IRTH qIY e

4, Sitasharan Sharma /QZﬁT'lT-‘ZITUTQI'JZHc

Correct Answer :-

e Om Prakash Kohli / shﬂumﬁﬁ?ﬁ

3) Find the odd one out: / T faus Wﬂﬂﬁt{:
1,8,9, 36, 25, 216, 49

1. 36

2.49



3.9

4. 216

Correct Answer :-

e 36

4) If HONESTY is coded INODTSZ, then how is WORSHIP coded? / af& HONESTY B INODTSZ A BIfSd

e SITaT B, A worsHIP @1 H1 Bifsd far wrm?
1. XNSRIHQ

2. XNSRIHQ

3. XPSTIQ

4. XPTSIQ

Correct Answer :-
e XNSRIHQ

5) If VIJAYA is coded VILDCF, then how is DEEPALI coded? / Tf¢ VIJAYA DY viLDCF A Difed fhar wiTar g,
I DEEPALI ) B Sifed far s ?

1. DFGSEQO
2. DFGSEPO
3. DFGSFQO

4. DFGTEQO

Correct Answer :-
e« DFGSEQO

6) A few boys are sitting in a row. Prateek is sitting fifteenth from the left and Rahul is the tenth boy from
the right. If there are five boys between Prateek and Rahul, how many boys are there in the row? /

ASP UP Ufea & 9 §U &1 Ui 91¢ | U=xgdi § 3NR Igd a1¢ A gHai g1 afe wdld iR Aga &
&9 § uiw asd €, 9 ufda A e dsd &2

1.29
2.31
3.33

4. 30



Correct Answer :-
e 30

7) The bank note printing press in Madhya Pradesh is at / & UeR H 9% Hie HKUITeTY (ﬁlﬁ"l’) Pl
fRag?

1. Ujjain / S

2. Nepanagar / IR

3. Hoshangabad / BIRITIETG
4. Dewas / GATI

Correct Answer :-

e Dewas /éa'm

8) Who is the President who has had the longest term in office? / dg TI'E"TI%I o %', T ga wdt
3rafy o1 HTdhTe BT 82

1. Rajendra Prasad / ol TG
2. Zakir Hussain / SR Eﬁ:l

3. S Radhakrishnan / T8 [YTH W
4, Hamid Ansari / ET&I_Qr 3R

Correct Answer :-

» Rajendra Prasad / o= UG

9) Who is the Chairman of SEBI? / &l T 3{eH& B 82
1. Ajay Tyagi / 3oy TN

2. S Jaishankar / T STOR[HR

3. C B Bhave / I §f 419

4. UK Sinha /g & gl

Correct Answer :-

o Ajay Tyagi/ 3T AR



In terms of population, the largest city of Madhya Pradesh is / ST ST & STYR T A UG T G99
TSTUET 8

1. Indore / 33 N
2. Gwalior / TaTTeTIR

3. Jabalpur / SISTYR
4. Bhopal / T

Correct Answer :-

e Indore/ _&T?R

11) How many scheduled languages are recognized in India? / HIXd # foat Gﬂﬁﬁlﬂ HTYTY |
T &2

1. 20
2. 28
3.22

4. 35

Correct Answer :-

e 22

12) Which among the following is NOT a region of Madhya Pradesh? / Fafafea d I s ar g ve
TN H 51 87

1. Bagelkhand / TIAQIS

2. Mahakaushal / m

3. Malwa / HIIdT[

4. Chota Nagpur / Jel AR

Correct Answer :-

« Chota Nagpur / Bl ANTYR

13) Which of the following states won the 10th National Award for excellent work in Mahatma Gandhi
National Rural Employment Guarantee Act, 2005 (MGNREGA) in 2015? / AgTeHT TRt 1814 reitor

TR TREY TR 2005 (THSITASRSSIT) & dgd a¥ 2015 # Sy &1 & fore Fuifea A @
frr Ta 7 1087 T @R St

1. Gujarat / 7]SIRTd



2. Rajasthan / XTSI
3. Assam / 3IH

4. Madhya Pradesh / H¥ PR

Correct Answer :-

» Madhya Pradesh / H&J PR

14) Which day is celebrated as International Yoga Day? / frafeast GI?R'@T[ o fega & +u o
HATAT STl 32

1. April 23 / 310 23
2. June 21 / S 21

3. September 21/ RIAHR 21
4. July 21 / [T8 21

Correct Answer :-
e June 21 /9d21

15) The present Union Minister for Road Transport and Highways is CEIEE:| Jsh trha%q

3R IRt & fog St wft p 32
1. Suresh Prabhu / fﬁ_‘\’[ Uy

2. Rajnath Singh / ST g

3. Nitin Gadkari / [Rfa= Te®3)

4. Kalraj Mishra / CNNEAEE]

Correct Answer :-

« Nitin Gadkari / A9 T&H<

16) The holy river that is the site for the Simhastha Kumb Mela / dg ufax qﬁ\_rﬁ ﬁl?W §7'3-[ Al BT
T B

1. Narmada / THaI
2. Shipra / Ry
3. Sindu / &Y

4. Ganga / Tl



Correct Answer :-

« Shipra/fR0T

17) Tapti river flows into the / A& T HET SITHR fArarel 82
1. Bay of Bengal / Waﬁ“@@

2. Gulf of Mannar / HAR a?r@ﬁ’r

3. Gulf of Khambhat / T $1 WIS

4. Indian Ocean / To¢ ASRITR

Correct Answer :-

« Gulf of Khambhat / TEC &1 WTal

18) The maximum strength of Lok Sabha as envisaged by the Constitution is S Gfau= o

RGP T UR, e A d aftrpaw | ge@ala®ddsl
1. 552
2.250
3. 546

4. 525

Correct Answer :-

e 552

19) With which game do you associate Saina Nehwal? / HIgT Aeard fa e | Tafta 82
1. Hockey / _E:m

2. Table Tennis / C8d -9

3. Badminton / S fHe

4. Chess / TS

Correct Answer :-

e Badminton / é@ﬁﬁr

20) ‘Korba Thermal Plant’ is located in / ‘PR YyHd wie’ A s | R %:



1. Gujarat / 7]SIRTd
2. Uttar Pradesh / 3R UegT

3. Chhattisgarh / mﬂ?{

4. Madhya Pradesh / H&] o

Correct Answer :-

 Chhattisgarh / m

21) India joined the Missile Technology Control Regime (MTCR) in the year/ CL H YRd ﬁl'\q'l?g?l'

W fHriEror srawT (TadRitemR) & =nfire gam uTl
1. 2011
2. 1998
3.2016

4. 2007

Correct Answer :-
e 2016

22) The first battle of Panipat in 1526 was fought between Babar and / 1526 ﬁ, qHId S tl?ﬁ ?I_c-'o'lg

1. Rana Sanga / 0T 91T

2. Hemu/%'{

3. Daulat Khan Lodi / Siad @ @lat
4. Torahim Lodi / SSTeH dldl

Correct Answer :-

« Ibrahim Lodi / SSQH dlal

23) Maharashtra granted the minority status to in 2016 / HERRTY 42016 ° Cal

SAFTETID ol WP fomaT AT
1. Parsis/tl'm?ﬁ
2. Sikhs / Rral

3. Jews /T@ﬁtﬁ



4, Peshwas /ﬁ%ﬂ@ﬁ

Correct Answer :-

o Jews /I@ﬁtﬁ

24) Complete the series choosing the missing number: / T JBAT TAB YT BT GRT HIOIC:
8, 24, 12, .18, 54

1.24

2. 36

3.42

4. 48

Correct Answer :-

25) Complete the series choosing the missing number: / T JBAT TAB YT BT GRT HIOIC:
36,28,24,22,

1. 20

2.21

3. 18

4. 22

Correct Answer :-

e 21

26) Complete the series choosing the missing number: / T JBAT AB YT BT GRT HIOIC:
28, 33, 31, 36, 39

1. 38

2.34

3.35

4. 33

Correct Answer :-



27) Select the option that is true about the Statements and Conclusions given: /39 faweu
BT 941 BIfoTT ot 7F Yy T HY=1 3k FAewef & Ik o O&t 8:

Statements: / HY-:

No river is sea / 13 I TS 781
All seas are oceans / It Y% HeHTR %

Conclusions: / s
I. All rivers are oceans / I} 7d} #gTR &
I1. No river is oceans / ﬂﬁ% H?ﬂ HeANMR Hﬁ%

1. only conclusion Il follows / Had TH || &WW%

2. only conclusion | follows / Had TpY | WW%

3. neither conclusion | nor conclusion Il follows /:[ﬁﬁﬁb_ﬁfl eﬁ?qﬁﬁmﬁﬁf 1] WW%
4. both conclusion | and Il follows / 5 | 3R 11 ST G@TUTW%

Correct Answer :-

« neither conclusion | nor conclusion Il follows /7 g1 fIspY | 31X 7 gt fAsh |1 WW%

28) Select the option that is true about the Statements and Conclusions given: /39 faweu
BT I PIfoTE & f feE T HYAT iR fAewul & 9 & 9dl 8:

Statements: [/ ®Y-:

No chain is ring / P13 SR Gﬂ]ﬁﬂﬁ%
All rings are bangles / Wt srffeai gfsai &

Conclusions: / fAss:

I. Some bangles are rings / $ qf34i 3ifedi &
II. Some chains are bangles /| $© SR GF]:%QT %

1. only conclusion Il follows / Had FTHT || &WUTW%

2. only conclusion | follows / Had FTpY | &@TUTWT%

3. neither conclusion | nor conclusion Il follows /7 & fIsrT | 3R 7 & fAsh |1 WW%
4. both conclusion | and Il follows / FI&pY | 3R 11 L] WW%

Correct Answer :-

« only conclusion | follows / Had FTpY | &@TUTWT%



29) Select the option that is true about the Statements and Conclusions given: /39 fawe

BT I PIfoTE & fop feE T HY=T iR fAepuf & 9 & 9l 8:

Statements: [/ dY-:
Some cranes are swans / $© URH g4 %
All swans are ducks / 94 g9 a9 §

Conclusions: / fsp:
I. Some cranes are ducks / $© IRY dd9 g
II. Some ducks are cranes / $9 §dd IARY g

1. only conclusion Il follows / $Had FThY || \HWW%
2. only conclusion | follows / $Had Y | G‘IWW%
3. neither conclusion | nor conclusion Il follows / 7 &1 fISFT | 3R 7 & fAsh |1 WW%

4. both conclusion | and Il follows / fswS | 3R 11 G ST HIA &

Correct Answer :-

« both conclusion I and Il follows / G | 3R 11 EHY SWW%

30) Select the option that is true about the Statements and Conclusions given: / 39 fapea &1

TU BT o fb 3T 1T w1 ot frepef & v d 91 @:

Statements: / ®YH:
All houses are bungalows / I TR §7d &
Some bungalows are flats /| $9 CUG RS [ %

Conclusions: / fAss:
I. All houses are flats / 9 TR FT &
I1. All bungalows are houses / Tt e R %

1. only conclusion Il follows / Had FTHT || &WUTW%

2. only conclusion | follows / Had FTpY | &@TUTWT%

3. neither conclusion | nor conclusion Il follows /7 & fIsrT | 3R 7 & fAsh |1 WW%
4. both conclusion | and Il follows / FI&pY | 3R 11 L] WW%

Correct Answer :-

« neither conclusion I nor conclusion Il follows /- 1 s | 3R =1 &t fAnees |1 &WW%

31) Indian Air Force formally commissioned its first women fighter pilots in / YRA qa1g I
A ST gy wiger A urgee $ siuaie Fu d H yHTioTa faear url

1.2012



2. 2008
3. 2016

4. 2010

Correct Answer :-
e 2016

32) If CENTURION is coded 325791465 and RANK is coded 18510, then how is 78510 coded?
/ & CENTURION @1 325791465 3fk RANK $! 18510 ¥ HIfSd forar Siran §, Y 78510 &)
Hifsd forar s

1. TAKE
2. BANK
3. TANK

4. SANK

Correct Answer :-
e TANK

33) The series given below contains a sequence of numbers. Identify the incorrect

combination: / 2 & 7€ §@er §, HBN3 HT UH HH IR &1 Tad Yo UgII:
0,4,9,16, 25

1.0

2.25

3.9

4.4

Correct Answer :-

34) The series given below contains a sequence of numbers. Identify the incorrect

combination: / T & 73 e ¥, Wi F1 TP U IufRG &1 Tad TS UgIC:
4, 16, 36, 49, 64, 100, 144
1. 16

2.49



3. 64

4. 144

Correct Answer :-

. 49

35) In how many ways can the letters of the word 'STRANGE' be arranged, such that the 'GE'
in the word will always come together? / 'STRANGE' e * 3{&1?3[ &l fPalt ypR A Q‘@ Hard
forar o1 g dr & f 2ee # 'GE' 89T I1Y 3MU?

1. 5040
2.720
3. 2520

4. 1440

Correct Answer :-
e 1440

36) Complete the series choosing the missing letter/s: / Ul SHER/HERT B ECEEELERI C3| Ul PifoTg:
acc__bc__a__ccbbcc__

1.3,b,a,b

2.b,c,a,a

3.b,c,a,b

4,.a3,a,b,c

Correct Answer :-

e b,caa

37) In a certain code language God is greatis written sela soja se and Oh my god is written
Ke soka soja, then how is God coded? / T WH IS UV H God is greatﬁ sela soja se fera
SITdT € 3R Oh my god ™ Ke soka soja faran STl 8, @ God & $4 wifgd forar smawm?

1. sela
2. soka
3. ke

4. soja



Correct Answer :-

38) In a certain code language, po/o folo zolo means sun pulls earth, zolo solo bolo means
earth is round, and solo sula soka means what is this. Which is the word for bo/o in that code
language? / Udh @ HIS HTIT ff, polo folo zolo 1 3 sun pulls earth; zolo solo bolo &1 3
earth is round 3R solo sula soka BT IS what is this BT 81 59 BIS UV H bolo & fore g
Teg BT FTAHTA 54T 71T 82

1. earth
2. round
3. what

4, sun

Correct Answer :-

e round

39) Five children are sitting in a row. A is sitting next to B, but not C. D is sitting next to
E, who is sitting on the extreme left and C is not sitting next to D. Who are sitting

adjacent to A? / T TR TS IR A IS GURIA, BHF U H IS W CH U TSI 93T 81D, ED
U 93718, 5 f ST 19 W IBT8 3R C, D & UrA T8 93T 81 A & UTH 1< 937182

1. insufficient information / T SHBRY
2.BandC /B3RC

3.EandB /ES3RB

4.DandB /D3RB

Correct Answer :-

« DandB /D3RB

40) In the following question, some group of letters is given, all of which, except one,
share a common similarity while one is different.

Choose the odd one out:

/ Frafafaa uy ¥, seRt & oo Iqg fRr e 81 39 9t ¥ Fad U &) Sie®s, MW IHHGT 8
Wafd TP T |

39 | faus &1 99+ Hifom:

1. HK



2. MP
3. NQ

4. BD

Correct Answer :-

Topic:- Mental Ability and Mental Aptitude

1)
If (x)* / 4 = (%)%, then what number should replace 'x'? / Ife (x)* / 4 = (x)?, T The
HET & %' & dfaeafad &ar afge?

1.4
2.2
3.1

4. 6

Correct Answer :-

. 4
2) i
In the sequence shown below, which figure comes next? / A T3 11 &H &, Hell
HTHTd i | HAA?
[ - i W
{{ﬁ]\ Q{UJ}' ( ) 0
Vot \__/ '
: u i iv




4.

Correct Answer :-

3)
Sﬂ'\Eit.E +i—?:ﬂ
4 5

20
41

37
13

4.

Correct Answer :-

;s?rﬁﬁra#l; +

i_?:[]
5



4)

If the following two squares shown below overlap, which one of the following options

is formed? / afg @Fa ef a1 wfdeafag g1 & o BFa & & =la a1 vs AFeT g 27

37
o
A
O

O
m

%
]

Correct Answer :-



5)
In the sequence shown below, which figure comes next? / Al T3 a1 &H A, el
HTPicr i T IR
d [ d 4 | 9
1 u m v
1.
2.
3.
4,

Correct Answer :-

6) If Mahesh’s is older than Suresh by 6 years and the ratio of their age is 9: 7, then find the age of

Mahesh. / Tfe 7Y, TR A 6 a8 781 3R IAS! 3T BT YT 9:7 8, Y 7S B 31 71 B

1.21



2.28
3.27

4. 30

Correct Answer :-

e 27

7) Ram and Ravi can do a piece of work in 10 and 15 days, respectively. In how many days will the work

be completed, if both of them work together? / XTH 3N I foft ek Y o=t 10 SR 15 R_A AR
TPd g1 afe 3 I a1y firees &1 w3 af fva fai & ot qof g

1.5 days/5 &=
2. 10 days / 10 &

3. 16 days / 16 f&

4.6 days /6 fad

Correct Answer :-

« 6days /6 fed

8) A number is such that the product of its digit is 12. When 36 is added to the number, the
digits get reversed. What is the number? / T&% &I 5 UPR & b 3% Sl FT UG 12 B
W9 3G H&AT H 36 SIIST AT df IS 3 Ufaafid gl iid & | 98 |1 1 82

1.43
2.26
3.34

4. 62

Correct Answer :-

e 26

9) The difference between the compound interest and simple interest on a certain sum of
money in 3 years at 5% p.a. is Rs. 6,100. What is the initial amount? / f&=ft fAf¥a eI =
5% Wfday W 3 auf & Tpgfs saTeT 3R JTURY U™ F S 3R 6,100 FUT § | YRS R T 82

1. Rs. 5,00,000 / 5,00,000 E3en

2. Rs. 5,000 / 5,000 ST



3. Rs. 8,000 / 8,000 3UT

4. Rs. 8,00,000 / 8,00,000 E3en

Correct Answer :-

» Rs. §,00,000 /8,00,000 S0

10) At present, the ratio between the ages of Niranjan and Deepak is 4 : 3. After 6 years,

Niranjan's age will be 26 years. What is the present age of Deepak? / gaa # Ao 3R

3ue B} 3T BT U 4 : 3 81 6 IUT & UYTd, RS Ft Mg 26 ¢ it | Suw Ft adurT g =
?

1.24 years/24a'5f
2. 15 years / 1599
3.18 years/lSEI'le

4. 21 years / 21 Gl

Correct Answer :-

e 15years/ 15 Gl

11) The average of three consecutive odd numbers is 5. Find the highest of the three

numbers. / @ waTTT faww TE@mai &1 sid 5 71 il TEmell | ¥ Swan HEH &) 9d $e
1.7
2. 11
3.5

4.9

Correct Answer :-

12) A shopkeeper brought some wheat for Rs. 35,000. Due to a leakage in the storeroom,
one-seventh of the total wheat had become mouldy. If he sold the good wheat at a profit of
10 % and the mouldy one at a loss of 25%, what is his profit or loss? / T®h gPhI1qR a4 3 ﬁﬁ'
P 35,000 TUA § WeT| Mo # @ 811 & SR, $ A BT JTaal HIT ER19 81 4711 afe 98
3 NE B 10% F ATY WR 3R WRIG 71 B 25% 1 FIIA W 9, o 3G a1 91 311 1 gRiY?

1. 7%

2. 8%



3. 5%

4. 6%

Correct Answer :-

e 5%

13) A can do a work in 15 days and B in 20 days. Both of them work for 5 days, then the
remaining work is: / A T &1 & 15 &A1 & 3k B 20 &Y & &% gpar g1 3 a1 5 e & fow
P A & | 99 T91 g3 P &

1. 5/12
2.173
3.5/6

4.7/12

Correct Answer :-

e 5/12

14) Two trains, each 100 m long, moving in opposite directions, cross each other in 12 sec. If

one is moving twice as fast as the other, then the speed of the faster train is i E'T"Q?r,
Wt i 7 100 er @ §, fAudta fozn & g 8 § 3R 12 A$vs & th gk & UR wedl 71 afg
TP, gOt | g Aoh & 79 IET 7 A a Ia arelt ¥ @t 3|

1. 30 kmph / 30 fodt ufd der
2.20 kmph / 20 foodt gfa e
3. 24 kmph / 24 oot gfd ger

4. 40 kmph / 40 Tt ufc ger

Correct Answer :-

« 40 kmph / 40 Tt ufd geT

15) Pramod scores an average of 60 % in an examination consisting of 15 papers. He has
scored only 40 % average in five of them. What is the average scored in the remaining

papers? / WHIG 15 U4 TN &1 UHe 7 60% & N 3 U Hal g1 394 A Ui H 98 Had 40%
3N g UTd BT 8 1 AW Uy = A i i . 82

1. 100 %

2. 80 %



3.65%

4.70 %

Correct Answer :-

e 70 %

16) A car covers a distance of 500 meters in 20 seconds and a bus covers a distance of 30 km
in 45 minutes.What is the ratio of their speed? / T® %R 500 Hex &t Q'ff &I 20 APHUS H a9
Ft § MR TP I 30 Tt oY gt 1 45 fieTe | a9 Hredl 1 S9! A BT SguTa T gim?

1.6:9
2.9:4
3.4:9

4.9:6

Correct Answer :-

17) A boat travels at a speed of 10 kmph in still water. The speed of the stream is 4 kmph.
How much time will the boat take to travel 30 km upstream? / fRR &a ® 919 10 fHH ufa ger
B AT A YT B 81 URT B A7 4 fopft ufy wer 31 umr #Y faudia fa=m & 30 fdt &t amn & g
149 frae 9w e

1. 3hrs/3‘€i%
2.6 hrs / 6 °¢
3. 300 min / 300 fFFC

4. 500 min / 500 f&FE

Correct Answer :-
« 300 min /300 fAc

18) A cricket player scores 20, 30, and 40 runs each in different matches. Find the average

score of the player? / U& fohdbe fRaard) fafia A= & 20, 30 3R 40 31 9141 21 FRAATSY &1 N¥d
THR JId B |

1. 40
2.50

3.45



4. 30

Correct Answer :-
e 30

19) If the heights of two triangles are in the ratio 3 : 2, and the bases are i!1 theratio2:5,
then what is the ratio of the areas of the two triangles? / ﬂﬁ a‘r Ao 1 vﬁTé 3 : 2 3Jurd s |
8, 3T 3% SATYR 2 : 5 3IUTd | §, 99 G| (ADIVN & SABA! BT SIUTd FIT 2

1.3:2
2.3:4
3.15:4

4,3:5

Correct Answer :-

e« 3:5

20) If the heights of two triangles are in the ration 3 : 2 and their bases are intheratio2: 5,
then what is the ratio of the areas of the two triangles? / af¢ &I A®IvN @t Hars 3 : 2 uTd
8, 3R IT& MUK 2 : 5 3JUTd & §, 99 I BB & &Awal &1 SguTd T gR?

1.3:2
2.3:4
3.15:4

4,3:5

Correct Answer :-

21) Evaluate: /Hﬁmﬂﬁ:

(0.00032) ~ (3/5)

Lh | k2

Lad | =



LJ‘qu

—
h.?| ke
L

Correct Answer :-

—
h..?|r—-
Lin

22) The series given below contains a sequence of alphabets and numbers. Identify the incorrect

combination: / T &Y TE @a , 3&rRY 3R @3 &1 ve HH AR &1 T Yo vgane:

i.huioi70110ihuoi
ii.huioi70110ihuoi
iii.huioi70110ihuoi

iv.huioi70110ihooi

4, iii
Correct Answer :-

e iv

23) Which one of the following four addresses is NOT EXACTLY same as the one given below? / IEE] ﬁa ™

IRTA AT TR AN RS NI agaa eI Ts T 22

Baker Bani
J1. Industri Utama Blok RR2C,

Jababeka II, Desa Pasirsari,
Lemahabang, Cikarang Selatan, Kab. Bekasi 17550



(i) Baker Bani
J1. Industri Utama Blok RR2C,

Jababeka 11, Desa Pasirsari,
Lemahabang, Cikarang Selatan, Kab. Bekasi 17550

(ii) Baker Bani
J1. Industri Utama Blok RR2C,

Jababeka 11, Desa Pasirsari,
Lemahabang, Clkarang Selatan, Kab. Bekasi 17550

(iii) Baker Bani
J1. Industri Utama Blok RR2C,

Jababeka 11, Desa Pasirsari,
Lemahabang, Cikarang Selatan, Kab. Bekasi 17550

(iv) Baker Bani
J1. Industri Utama Blok RR2C,

Jababeka 11, Desa Pasirsari,
Lemahabang, Cikarang Selatan, Kab. Bekasi 17550

1. iii

24) Find the average. / 3Nua Ferferd |
29,34, 39, 44,49 & 57
1.42

2.39



3.37

4. 46

Correct Answer :-

)

25) If three fifth of a number is 40 more than 40 % of the same number, what is the number? / 'Clﬁ Udh LRG|
BT 3/5, AT VBT F 40% A 40 AP § < 98 T=T T 82

1. 100
2. 400
3. 150

4. 200

Correct Answer :-

« 200

26) Rs. 1,800 is shared between A, B, and C. If A gets thrice of B, and B gets twice of C, then what is the
share of A? / A, B, 3R C & d19 ¥ 1,800 TUY &Y qieT 11 T A A B HT fOv 1 3R B A € &1 g1 UIed
fPaT e, A BT RETFIR?

1. None of the above / JURIad & A or?l::f :lﬁof

2. Rs. 1,200/ 1,200 3T
3. Rs. 1,300/ 1,300 3G

4. Rs. 1,400 / 1,400 3T

Correct Answer :-

e Rs. 1,200/ 1,200 39T

27) What percent of 1.2 is 1/5? / 1.2 T fa=11 ufear=rd 1/5 82
1. 16.67 %

2.25%

3.20 %

4.15%



Correct Answer :-

e 16.67%

28) Mohammed bought a television set for Rs. 12,000 and later sold it for Rs. 10,000.What is
his loss percent? (Approximately) / ﬁ%m'c{ G| Tdh Ad e 7 12,000 I § e 3R dig H 3‘\&
10,000 ¥ ¥ 9 a1 I9HT 71 ufer=ra wum 82 (M)

1.16.5%
2.17.5%
3.14.5%

4. 18.5%

Correct Answer :-

e 165%

29) A father is 30 years older than his son however he will be only thrice as old as the son
after 5 years. What is father's present age? /[ Ud far eru= LE] ¥ 30 99 CE] %I 5 9y di¢ dg
A GF | Fad foAr g1 81| fUar 3t adur g @ @2

1. 40 years / 40 Gl

2. None of the above / STIFd & I cr?lé':@
3. 50 years / 50 Gl

4,30 years /30 9%

Correct Answer :-
e 40 years /40 Gl

30) If 75 % of a number is added to 75, then the result is the number itself. Find the
number. / Tfe T TWAT BT 75 %, 75 A SIST SITdT & df URUTH I8! T=AT i 21 39 H&T B JId
cd

1. 350
2. 250
3. 300

4. 280

Correct Answer :-



e 300

Topic:- Science and Simple Arithmetic

1)
The given graph represents the number of students who have passed in various subjects in a class
of 30. The pass percentage of Mathematics is: / 6T 31T 3Te@ 34 STAT T TEAT &
orefta &tar & Siegia 30 &1 Fam & e Al & scdiol fGear &) oifvrg &0
3cdioT gigea %’:

35
30

25 -

20 A

15

10 B Mo of students
5 arEr hT FHEar
o 1 ! 1 - 1 1

English  Hindi Mathematics Science Social Sanskrit
st R afog fasma Science e
gfas
faa=

1. 50%
2.45%
3. 40%

4.35%

Correct Answer :-
e 50%

2)
FCP X (P =(IF L thx=___ /AR ()& Ix(IP=(;F*? dl x=



4.8

Correct Answer :-

. -4

3)
The diagonals of a rectangle ABCD meet at O. If #ZBOC = 44°,

then #OAD =/ 30d ABCD & fa&ol 0 ox fAaa £l
g 2BOC=44°. 99 £0AD=_

o

1. 64

o

2. 58

o

3. 68

o

4.78

Correct Answer :-

o

- 68

K x* + =194, then the value of x® + —is: /x* + =194,
@ x® + 5 & AG §:

1. 50

2. 46

3.54

4,52

Correct Answer :-

A rectangular sheet of paper 44 cm X 18 cm is rolled along its length and a cvlinder is formed.
The volume of the cylinderis: / 44 HHT X 18 §H! HIOAGR HETA &l ofie &r 3Fhr

FFaTs & G gART AT § 3R ve @ &1 @A gar 81 a9 & a6




1. 2700 cm3 / 2700 I3
2.2727 cm3 [ 2727 T3
3.2772 cm3 / 2772 9413
4,792 cm3 /792 93

Correct Answer :-

e 2772 cm3 /2772 913

When @ + (2x—3) = (2x + 3), then @ stands for: /9d @ +~ 2x—-3)=(2x+3). dd @
fhaeaT vl &

1.4x2+12x+9
2.4x* -9
3.4x2-12x+9
4.1

Correct Answer :-

« 4x2-9

7)
IfEJ%:y— 1 § then the value of v is: Jafe 9%=}'—1§= dd

v & HATT § -

41
12

33
12

127
12



Correct Answer :-

127

12

8) If AB, BC and CD are equal chords of a circle with O as center
and AD is the diameter, then #AOB = . /TTE AB.BC

3R CD &ww 0 & @A gd $T Sfar § va AD &9
§,09 £AOB=

1. 60°
2.90°
3.30°

4. 45°

Correct Answer :-

e 60°

9) A teacher wants to arrange maximum possible number of 6000 students in a field such that
the number of rows is equal to the number of columns. Find the number of rows, if 71 students

were left out after arrangement. / WﬁT&'ﬁ? U 833[ T 6000 BT B SfUHTH JFUTFAT =T
B 39 UPR AT BT 18T ¢ NP Ufaal &1 T=T Tl &1 &I & JHH 81 | afe
AT & T1¢ 71 BTH Fe T A A1 Ufdadl ot J=1 71 B |

1. 80
2.77
3.78

4.76

Correct Answer :-

10) A car travel 432 km on 48 liters of petrol. How far would it travel on 20 liters? / TP PIX 48

diex Ugia | 432 it &Y amn &=l 81 20 diex Ueta ® fra-l gr a@ ar=n sl
1. 176 km / 176 foit

2. 200 km / 200 T



3. 180 km / 180 T I
4, 144 km / 144 &t

Correct Answer :-

. 180 km / 180 Tt

11) The value of a flat constructed at a cost of Rs. 1000000 is depreciating at a rate of 10% per
annum. Its value after 3 years of construction will be: / 1000000 U8 Ft arTa A FAffa wde &

ey 1 ufaad 10% P & | Sra¥ed 81 761 8 | Fafor & 3 af & ugra sHe1 Yeu g1
1. Rs. 729000 / 729000 ¥
2. Rs. 875000 / 875000 ¥UY
3. Rs. 750000 / 750000 ¥T

4. Rs. 700000 / 700000 ST

Correct Answer :-

« Rs. 729000 / 729000 3UY

12) The area of trapezium having its parallel sides equal to x + 3 and 2x + 7 and its height 18 cm
is 144 cm2. The difference of its parallel sides is: / TP THTH P FHMIGR ‘HTrITa x +3 3R 2x

+7% JHM g 3R ITD! SIS 18 THI § 1 IH JHH BT AT6d 144 AH2 | ITPT
TUMIAR YoI3ii o7 3R 8:

1.7 cm /7 91
2.10 cm / 10 I
3.6 cm /6 9Ht
4.5cm /5@1:?[

Correct Answer :-

. 6cm/6@’5ﬁ

13) Which one of the following can undergo nuclear fusion? / F=IfEd ® A fras Mfbs g Gau ot
ufehar A ToRA BT HHTTAT 82

1. Thorium / ¥ikgH
2. Krypton / fbei=



3. Deuterium / SIcRIH
4. Uranium / aj{ﬁm

Correct Answer :-

« Deuterium / SJ¢RIH

14) The objects which emit their own light are called ./ q TY T YA YHTN a4 Jeaford

B, gl

1. illuminated objects / 3eipd IXIQ
2. reflecting objects / Wﬁ?ﬁaﬁq
3. opaque objects / SORERA CES Y

4. luminous objects / Tt a¥IY

Correct Answer :-

 luminous objects / a EIT@I

15) When you apply perfume on your body, you feel cool because: / SId 3T ¥4 TR EEl

A & oY 31T ST HegH B €,

1. Perfume is kept at a low temperature. /ﬁﬁﬁg AT X1 S %I

2. Perfume condenses easily by absorbing energy from your body. / 3D I I o1l b AN B 3
ST & Fafd 81 ST g |

3. The solvent in the perfume evaporates easily by absorbing energy from your body. / ¥4 T Iuryd foamas
3P T F Soll I AR B A F I 51 A 5|

4. The solvent in the perfume evaporates easily by transferring energy to your body. / 39 &1 foama® 3mge a9 o
Soll I RIFART BR A F I 8 571 g |

Correct Answer :-

» The solvent in the perfume evaporates easily by absorbing energy from your body. / ¥4 T Iufyd faamas
3T T I Fyoll B AR R AT Y A 1 el B

16) Small structures inside a cell that works together is called . BIRIET & iR 31 B
TR Y TP 1Y BT Helt 8, Pl gl

1. nucleus / TTHH
2. organelles/aﬂw
3. inclusions / JHTAYT




4. cytoplasm /WW\T{[

Correct Answer :-

e organelles/ ARG

17) Which one of the following is an exhaustible resource? Aok kkack: | Udh Jiftra Sare= %?
1. Coal / BITAT

2. Rain precipitation /aut 3(gegu

3. Air/dlg
4. Tidal energy/ﬁTﬂH Sl

Correct Answer :-

. Coal/m

18) Find out the wrong pair. / TTAd JH G| ﬁﬂ%ﬂ cxd
1. Intestine — involuntary / 3{Td - 3‘@%

2. Hand muscles—voluntary/?ﬁﬁ?ﬁ—m

3. Neck muscles — voluntary/%rai’ﬂ— m

4. Air passage — voluntary / aTgmﬁ— m

Correct Answer :-

» Air passage — voluntary / arrgnm‘— m

19) Muscle is connected to the boneby _ . /ﬂ'ﬁﬁ, I - a?ﬁ'RT Wﬁﬁﬁ?ﬁ %I
1. Cartilage / Iy

2. Ligaments only /W HY

3. Both ligaments and tendons / {14 GﬁT HexT aﬁr

4. Tendons only / Had BRI

Correct Answer :-

« Tendons only / Hdd He

20) Candles and cosmetics are made of: / HYAERMAT 3R Hgd THIYT AR I18Id @ :



1. Paraffin wax / SR1fts9 @Y
2. Bitumen / faga

3. Kerosene / BRI

4. Diesel / SoTd

Correct Answer :-

« Paraffin wax / BRIt A1

21) Hydra reproduces by: /Wmmmm%
1. Budding / P

2. Binary fission / fefods

3. Cloning / TR

4. In vitro fertilization / 3 fag s

Correct Answer :-

« Budding / P

22) We feel more comfortable with dark coloured clothes during winter because: /Hﬁtﬁ'a?ﬁﬂ:r
BH BTd T BUS! § RIP Tgo Hegd H3d 8, Fifdh:

1. Dark coloured clothes looks good /ﬁ@%ﬁ 3 fead €1

2. Dark coloured clothes reflects more heat / g 3 & HUS 31w THf & WRrafdd Hd 3|
3. Dark coloured clothes absorbs more heat /TIEA\’T’TQ’TEW% 31fdep T Y ST B B
4. Dark coloured clothes are very cool / W JTMH Eb'ﬂ% ogd o fiaa ﬁﬁ %I

Correct Answer :-

« Dark coloured clothes absorbs more heat /ﬂs%waaaﬁqé 31fde Tl Y mﬁﬁaﬂﬁ%l

23) Which of the following statements are true?

(i) Angles forming a linear pair are supplementary.

(ii) Angles forming a linear pair can both be acute angles.

(iii) Two lines parallel to the same line are parallel to each other.

(iv) Two lines perpendicular to the same line are perpendicular to each other.



J FFafafEa 9 & oF 91 Y 98 82

(i) T @@ g &1 i Fd v 1P &

(i) T M® g &1 fFAuior 31 ara S o1 € g7 Ho1 81 JHhd 8
(iiii) TP g IWT & FHHIGR &1 I TP goR &b AR gt 8
(iv) TP 81 3W1 & Taaq & Y@M TP gaY & avaad gl 8

1. Only (iii )/ &ad (iii)

2.(i)and (iii )/ (i) SR (iii)

3. (ii)and (ii )/ (i) 3R (iii)

4.0nly (i) / dad (i)

Correct Answer :-

« (i)and (iii)/ (i) 3R (iii)

24) A metal when brought near the end of a strong magnet, it gets repelled. This metal is: /
wiq fHdt wfwm=medt gae & SR & Aee te urg @rs o 8, a9 98 39 ufasiia $ar 81 ug urg
= % :

1. Non-magnetic / GF:J,WW
2. Ferromagnetic / Fﬁﬂw
3. Diamagnetic / Qﬁw
4. Paramagnetic / GW

Correct Answer :-

« Diamagnetic / Ui

25) With the money Arvind has, he can buy 50 pens or 150 pencils. He kept 10% of it aside
for taxi fare and with the remaining, he purchased 54 pencils and n pens. The value of nis: /

3RfIE 3 UrT B YRR V 50 & IT 150 URya W HpdT 81 391 10% R} frvme & forw
3eT 3@ T 3R AW YRR & 54 URiT 3R n 9 @I n HTAME 2

1.27
2.25
3.29

4. 30

Correct Answer :-



26) Name two organelles that have their own genetic material. / 3 a’ PRGN & 919 qdigq, IGEE KR
Y B SATIERre Il gt 21

1. DNA and RNA / SIT-U UG 3RUAY

2. Mitochondria and plastids / H|sc“|ch|%q| Td ddh
3. Ribosome and Golgi bodies / TI%@@T[QH Ticolt B
4. Dictyosome and endoplasmic reticulum | STfeTehTa auT &Iﬂﬁaﬂm

Correct Answer :-

e Mitochondria and plastids /Wﬁaﬁ%ﬂTﬂaW

27) One of the features about gymnosperms mentioned below is incorrect. Identify the same. / Le)

giofa sMTgadtel & IR | faRiwarsii § | Us Ted 8 IS9P ugaH Bl
1. The seeds are not enclosed within the fruits. /@GW% Wﬁaﬁgl

2. Cones are the reproductive structures. / i TS TS § |

3. They mostly comprise evergreen trees. / 39H JHYHR TadeR ﬂ_é Rl E?I?f %I

4. They bear colourful flowers. / E:I'Ef CUIC] Thd 3Md %I

Correct Answer :-

« They bear colourful flowers. / 370 TF Fd 3Md €|

28) During respiration O, is taken in and CO5 is released. The physical process that aids in this
exchange is: / 49 & SR 0, 33 &t w1l § 8k Co, e gt 31 39 faf~ g & g Wifas wepw
Hag Bl 3:

1. Osmosis / UM
2. Adsorption / Sferemyor
3. Absorption / STARISOT
4. Diffusion / faaRor

Correct Answer :-

« Diffusion / faaRor



. [ ORI TUT gt & ot &1 g Bt

The distance between stars and the Earth is measured in
H HIUT SATdT 81

1. meters / HICX

2. light year / PEIRIEGL]

3. kilometers / fraer
4. mega units /ﬁmw

Correct Answer :-

o light year / UDIRI ¥

If 3048625 = 3375 X729, then the cube root of 3048625 is: / Tl 3048625 =3375 X729 @r

3048625 T ToTH b
o,

1. 135
2.45
3.225

4.75

Correct Answer :-

e 135



